College Math

Solving Practice Quiz
Solve each equation.

1) 11(2p +12) +3=39 - 10p

3) 17+6n=-12-(1-3n)

5) —n-5(5n+2)=-12(n - 5)

7y =7(1 - 5x) +8(9x - 10) = 12 + 8x + 1 — x

Solve each inequality and graph its solution.

9) —7(4n -8) <10 - 5n

Name

Date

2) 58 —dx =x+7(10 + x)

4) =6 +9(7 +5x) =57 + 11x

6) —2(1 + 11x) = —2(11x + 4)

8) —12(x-6)-2=12-10(x-7)

10) 5(1 - 2k) <30 - 5k

-12 -10 -8 -6 -4 -2



11) 6a -8 <2(3a-4)

10 11 12 13 14 15 16 17 18 19 20

12) 4r-33<-3 +2(8 +3)

8 -7 6 -5 -4 -3 2 -1 0 1 2

Solve each compound inequality and graph its solution.

13) 46 <3 - Tk <38

15) 4p+2=-340r2+2p=<-18

-16 -14 -12 -10 -8 -6 -4

17) 7=3n-8=<4

-8 -7-6 -5-4-3-2-101 2 3 4 5 6

14) 2<2x-2=<4

-4 -3 -2 -1 0 1 2 3 4 5 6

16) 5h—1>240r-10b + 8 = 88

-10 -8 -6 -4 -2 0 2 4 6

8



Answers to Solving Practice Quiz

1) {-3 2) {-1 3) {-10} 4) {o}
5) -5 6) No solution. 7y {1 8) |-6}
Nn>2: v v 19 > 10) k=2-5: vt +@
4 2 0 2 4 12 -10 -8 -6 -4 -2
11) { All real numMbeETS. } |  qjmmm—p— 12) r=2-3: sy
10 15 20 -8 -6 -4 =2 0 2
13) -5<k<7: N S-——t
-8 -6 -4 -2 0 2 4 6 8 10
14) 2=x=3: ——t—t—t ——t—t—t
-4 -3-2-101 2 3 4 5 6 7 8
15) p=z-9o0rp=-10: PP >
16 -14 -12 -10 -8 -6 -4
16) b>5o0rb=-8: o— PN >

17) No solution. © ,  , , ., . . . . . . . .

8-7-6-5-4-3-2-101 2 3 45 6



